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Similar triangles have the same shape, but not necessarily
the same size. THEY FYST HT ATHR THM FAT 7, TR
AT &1 Tk THTT HTT <k Bl
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Congruent triangles have both the same shape and the same

size. TATTEH TSI T STTRR R ATHR AT THH F1T 51

E

P
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Criteria For Similarity Of Triangle
st & FHTEar & forg weEE

Two pairs of corresponding angles are equal.
HIT HIOT & & JoA SR 8Id &

v
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Three pairs of corresponding sides are proportional.

T TS o W I TETTET 2
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Two pairs of corresponding sides are proportional and
the corresponding angles between them are equal. ¥d
STl o G1 TTH AHTIUTAT BId & TR ITeh siter WA hI0T
TR B B
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Congruent triangles have the same corresponding angle

measures and side lengths. The triangle congruence
criteria are:TITHH ﬁr‘gm‘r H THT SHI0T {IT 3R ‘ﬂ\_rlﬁﬁ
<Al TiaTg THT et 81 Frpet gairemar e §:

> SSS (Side-Side-Side)

> SAS (Side-Angle-Side)

> ASA (Angle-Side-Angle)
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Similar triangles have the same corresponding angle
measures and proportional side lengths. The triangle
similarity criteria are: H&EY ﬁrgm‘r H {HTT hI0T HTT 3T
FHTIATAT AT T T8 BT 2| e THTar aes

*AA (Angle-Angle)
*SSS (Side-Side-Side)
*SAS (Side-Angle-Side)
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In A ABC and A DEE AB = DE and BC = EE Then
one can infer that A ABC = A DEF, when

A ABC 3R A DEF ®, AB = DE 3R BC = EFI @ I%
frsre fehren ST wear © T A ABC = A DEF, Sa—
(1) ZBAC = ZEDF (2) ZACB = ZEDF

(3) ZACB = /DFE (4) ~ ABC = /DEF
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Thales Theorem -8 0T
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Mid Point Theorem-H% i;ig JUg
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Uses Of Similarity
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Uses Of Similarity
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The perimeters of two similar triangles ABC and LMN are 60
cm and 48 cm respectively. If LM = 8 cm, The length of AB is

St AAEY Bt ABC 3T LMN 3 URHATT SHATT: 60 T 37 48
AT F afe LM = 8 9T, AB Y &iaTe &

A.10 cm
B. 8 cm
C.6cm
D.4 cm
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The perimeters of two similar triangles are 30 cm and 20 cm

respectively. If one side of the first triangle is 12 cm, determine

the corresponding side of the second triangle. 1 THEY ﬁ‘fﬁl‘f
o UTCATT SHATST: 30 THT 311X 20 Tt §) AT Uger BIvyT 1 Teh T

12 THt 2, A1 FE ST bl W YT AT Ity

A.8 cm

B.10 cm
C.12 cm
D.20 cm
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Areas of two similar triangles are 225 sq.cm. 81 sq.cm. If a

side of the smaller triangle is 12 c¢m, then Find

corresponding side of the bigger triangle. a‘rm'{acr%rgm‘rem
AT 225 0 THY IR 81 o A 71 ATE B¢ oot 61 wek

T 12 T &, 1 a2 gt ot e 71T 9 SRl

A.20 cm
B.25 cm
C.24 cm
D.None
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The area of similar triangle are 729 ¢cm? and 576 cm?

respectively. find the ratio of their corresponding sides?

THEY ST ST % SHAI: 729 HHP AR 576 AH 2
IThT I HATSAT hT ATUTA AT ShITTT?

A.27:24
B. 24:27
C.3:8

D.None
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The areas of two similar triangles are 49 ¢cm2 and 64 cm2

respectively. The ratio of their corresponding sides is

TN AHEY VST T GTHeT ShUST: 49 THT2 3R 64 THI2 1 3R

I AT T ST 7

A.7:8

B.8:7
C.2401:4096
D.None
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In a AABC, Point D is on Side AB and Point E is on Side AC,
Such that BCED is a Trapezium. If DE : BC =3 : 5, Then Area

(A ADE) : Area (OBCED) =

T ABC #, g D WSIT AB W 3R {aig E 99T AC W 30 TR 2
foF BCED ter @wei 81 afe DE: BC = 3: 5, @t &%t (A ADE) :
2%t (OBCED) =

(A)3:4(B)9:16 (C)3:5(D)9: 25
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If AABC is similar to ADEF and BC = 3 cm, EF = 4
cm and area of AABC = 54 cm?, then what will be
area of ADEF ?

af€ AABC, ADEF &% TH&T & 3R BC = 3 94T, EF = 4
gl qem AABC &1 &9%d = 54 WHI2 81, @ ADEF &1
gl fora-m &2

(1) 66 cm2/ 9HI2 (2) 78 cm?2/ THI2

(3) 96 cm?2/ gHP (4) 54 cm?/ 9HP
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Two triangles ABC and DEF are similar, in which AB
= 10cm, DE = 8cm. The ratio of areas of AABC and
ADEF is—

<1 3991 ABC @21 DEF 99&9 & fS99 AB = 10 T, DE
- 8 T IS ABC 3R DEF & &F%d 1 3T 8—
(1) 4:5 (2)25:16 (3) 64 :125(4) 4 : 7




Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM

The area of two similar triangles AABC and ADEF
are 20 cm? and 45cm? respectively. If AB = 5 cm,
then what will equal to DE ?

< TET IS ABC 91 DEF & &5%d Husl: 20 912
qem 45 T2 ¥ 9599R, af AB = 5 941 €, d DE fha®

(2) 7.5 cm / G9HI
(4) 5.5 cm / 9Ht

(1)
(3)
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The area of two similar triangles are 360 cm? and
250 cm?. If the side of Ist triangle is 8cm then what

will be the length of corresponding side of 2nd tri-
angle ?

T gEEY Y & e%e 360 I WHT 3R 250 o TH
g1 afg Tgat Y =1 TH 1 H O 8 YHI 7, a1 TR
IS T T ST HT AR T

1

(1) 6% cm / HH (2) 6% cm / HH

2

(3) 6§ dticm / (4) 6cm / ot
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The perimeters of two similar triangles A ABC and A
PQR are 36 cm and 24 cm respectively. If PQ = 10
cm, then AB =7

] GHEY 0 A ABC 31R A PQR & 9fHIT HIT: 36
g, AR 24 9. 21 af€ PQ = 10 9.1, 91 AB =

(1) 15 cm / 9. (2) 12 cm / 9.
(3) 14 cm / 9L (4) 26 cm / 9HI.
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ABC is a triangle in which DE || BC and AD : DB =

5:4. Then DE : BC is

ABC T& udr fqsl & 5= DE || BC 3iRAD :DB =5

. 4%, 9 DE : BC #1272
(1) 4:5 (2) 4:9

3)9:5

(4) 5 :

9




